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QUESTION 1

Which statement is true regarding OSPF multi-area adjacencies? 

A. A type 3 (stub) link is advertised for a multi-area adjacency. 

B. Configuring a multi-area adjacency allows the corresponding link to be considered an interarea link, so it will be less
preferred over an intra-area link. 

C. One logical interface will be a primary link, and the other configured as a secondary link; the secondary link will be
established as an unnumbered point-to-point interface. 

D. A DR and a BDR will be elected over the secondary interface, because it is not point-to-point. 

Correct Answer: C 

 

QUESTION 2

-- Exhibit 

-- Exhibit -

Click the Exhibit button. 

Referring to the configuration shown in the exhibit, which statement is true? 

A. RP2 stops sending all SA messages to its peer. 
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B. RP1 stops sending all SA messages to its peer. 

C. RP2 stops sending SA messages for the group 224.7.7.7 from source 192.168.100.10 to RP1. 

D. RP1 stops sending SA messages for the group 224.7.7.7 from source 192.168.100.10 to RP2. 

Correct Answer: C 

 

QUESTION 3

-- Exhibit 

-- Exhibit -

Click the Exhibit button. 

Referring to the exhibit, you want to configure Switch-1 to allow a user on interface ge-0/0/10 to accommodate both
voice and data traffic. Your phones and your switches are LLDP-MED capable. 

What is the minimal configuration that allows LLDP-MED to autoconfigure your phone\\'s voice VLAN? 

A. set interfaces ge-0/0/10 unit 0 family ethernet-switching port-mode trunk set interfaces ge-0/0/10 unit 0 family
ethernet-switching vlan members voice_vlan set interfaces ge-0/0/10 unit 0 family ethernet- switching native-vlan-id
data_vlan set ethernet-switching-options voip interface ge-0/0/10.0 vlan voice_vlan set protocols lldp-med interface
ge-0/0/10.0 

B. set interfaces ge-0/0/10 unit 0 family ethernet-switching port-mode trunk set interfaces ge-0/0/10 unit 0 family
ethernet-switching vlan members voice_vlan set interfaces ge-0/0/10 unit 0 family ethernet- switching native-vlan-id
data_vlan set ethernet-switching-options voip interface ge-0/0/10.0 vlan voice_vlan set protocols lldp interface
ge-0/0/10.0 

C. set interfaces ge-0/0/10 unit 0 family ethernet-switching port-mode access set interfaces ge-0/0/10 unit 0 family
ethernet-switching vlan members data_vlan set ethernet-switching-options voip interface ge- 0/0/10.0 forwarding-class
assured-forwarding set protocols lldp-med interface ge-0/0/10.0 

D. set interfaces ge-0/0/10 unit 0 family ethernet-switching port-mode access set interfaces ge-0/0/10 unit 0 family
ethernet-switching vlan members data_vlan set ethernet-switching-options voip interface ge- 0/0/10.0 vlan voice_vlan
set protocols lldp-med interface ge-0/0/10.0 

Correct Answer: D 

 

QUESTION 4
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-- Exhibit -user@router> show route protocol bgp detail 

inet6.0: 8 destinations, 8 routes (8 active, 0 holddown, 0 hidden) 4444:4444::/32 (1 entry, 1 announced) *BGP
PreferencE. 170/-101 Next hop typE. Router, Next hop index: Address: 0x934c688 Next-hop reference count: 2 SourcE.
172.27.0.5 Next hop: ::172.27.0.5 via ge-0/0/1.0, selected StatE. Local AS: 3 Peer AS: 701 AgE. 3:22 Task:
BGP_701.172.27.0.5+52965 Announcement bits (1): 0-KRT AS path: 701 4 I Aggregator: 4 10.255.1.34 Accepted
LocalpreF. 100 Router ID. 10.255.1.31 

-- Exhibit -

Click the Exhibit button. 

Referring to the exhibit, which two statements are true? (Choose two.) 

A. The IPv6 route was learned from an IPv6 BGP neighbor. 

B. The IPv6 route was learned from an IPv4 BGP neighbor. 

C. The IPv6 destination will use IPv4 as the next hop. 

D. The IPv6 destination will use IPv6 as the next hop. 

Correct Answer: BD 

 

QUESTION 5

What is the significance of the multicast address range 224.0.0.1 through 224.0.0.254? 

A. They have link-local scope. 

B. They have administrative region scope. 

C. They are reserved for future use. 

D. They have a scope of two or more hops from a router. 

Correct Answer: A 
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